NG

L%

N=wl] TR~ 1

A-2 fEER



1—Db

il

(1) (8%) 48%x0.36+48x%x0,22—48x0.08
=48x% (0.,36+0.22—0.08)
=48x0,5
=24

(2) (&8 98+87+-+-+21

119x%x8

=

=476
12423+ -+89
101x8

= —

=404
476—404=72

EoT. RKDBEIX. 72THS.

(#) @ F7. 9. 135,

24 7848

&2T, RHJERF, 7=3. 41=2, =2, T=4TH5.



(1) () ARKY, o=a, x=b&H L&

2a+2b=180" —36° =144°
&£2T, atb=144° +2=72°
x=180° —72° =108"°

(2) @ HRKY.

(F=90° —20° =70°

ACF B, ZEI=AKTHHDT.

{=180"° —70° x2=40°

*t-. ACEF=ACED
(ZEERZERTESTY )

J=I= (90° —40°) +2=25"

x=90° —25° =65"

(3) () AE&EY. LA=atBLL,
3a= (180° —42°) +2=69°
a=69° +3=23°
£->T. x=180° —4x23=828"

202




4

(1) (£8)

BEEE, £9. 1500ERD 5,

10x9
TH2dn = s idp
45+3=15
"EY, 7. 4. 98 Chhb,

7=15— (24+6) =7
A1=15— (54+6) =4
7=15— (54+2) =8

BUOZEEL., [ERbMS. BRBE,

&

(2) (F&)

7+4+8=19
2T, RHEIEF. 19THD,

1+2+'--+16=iliL9:1
2
136+-4=34
REY. 7, 10837 Chhd,
7=34— (3+10+15) =6
1=34— (6+11+186) =1
BFYDEBL. [BERHM S, BRSHE.
A=7, B=5, C=8 &Y
A+B—C=7+5—-8=4
£2T. ROEEE. 4THD.

cEA|

13

10

15

11

Al14

16

36

1318 | 12| 1
3 |10 | 6 | 15
2 | 11 7 | 14
16 | 5 9 4




(1) () 220%%. A. B (A>B) £HL & A+B=%§
113
A+B=——  -eunt @
1 +)A—B=¥L
15
7
A—-B=1—— ...... @ 20
AT
COEMNAERE. <
D+@& Y. 2A=%E
2
A=—
3
chE, DIZRALT. g o 2 1
15 3 5
HL$U.x%U§@‘%F%éQ
(2) (#%) KA1 ADAERE. AH. 10A+6B=6600
FEL1ADAEREZ, BA &BL& —) 9A+6B=6000
5A+3B=3300 - Q) A=600
3A+2B=2000 - @
COEIAHERE, L
Dx2—@x3 &Y.
A=600
—hExE, DIZRALT. 3B=3300—5%x600=300

&oT. B=100
BE&Y, RHDEE, 600ATHS.



(3) (f8) CLAYVIADEEZ, AA,
a0y 1{EDEERE. BHA
SUFAVIERERE. CHERBL L

5A+5B+3C=930 - Q)
10A+10B+5C=1750 @
16A=21B e ®

COEIFEXE. #E<

@&kY, 5A=T7B e @

@EDIZ/ALT, 7B+5B+3C=930
12B+3C=930

4B+C=310  «oeee ®
@EQ@ITRALT, 14B+10B+5C=1750
24B+5C=1750 = ®
®—®x5&Y, 4B=200
24B+5C=1750
B=50
i —) 20B+5C=1550
B=50%@IZfALT,. 5A=350
4B =200
A=T D
B=50%0BIZffALT. 200+C=310
C=110

A+C=70+110=180
BELY, kHBHEIEZ, 180MHTHD.



